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7 100kN/ Mm% Z % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
ZFhst 1.00 | 000 ~ 469 5845 | #hst | 000 ~ 469| 1.83 9.79 Fhst 1.00| 500 ~ 5.00 5845 | Fhs | 500 ~ 500 1.83 9.79
2 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Zhst 1.00 | 0.00 ~ 453 56.56 | TnLS | 000 ~ 453 1.96 10.49 Zhst 1.00 | 5.00 ~ b5.20 56.56 | =nst | .00 ~ 520 1.96 10.49
3 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Fhst — - ~ — —| #n st - ~ — — — Fhst — - ~ — —| Fhst - ~ — — —
p 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Zhst — - ~ — —| #hst -~ — — — Zhst — - ~ — — | Fhst - ~ — — —
5 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Fhst 1.00 | 0.o0 ~ 532 66.31 | Thst | 000 ~ 532|210 11.23 Zhst 1.00 | 5.00 ~ 7.30 66.31 | #hst | 5,00 ~ 7.30| 210 11.23
P 100kN/mM%EBZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
zhLst 1.00 | 000 ~ 6.50 81.84 | #hdst | 000 ~ 650 1.85 9.92 zhLst 1.00 | 6.00 ~ 7.90 81.84 | #nst | 5.00 ~ 7.90| 1.85 9.92
- 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Ths 1.00 | 000 ~ 636 79.96 | #nst | 000 ~ 6356 1.95 10.41 Fhst 1.00 | 500 ~ 810 79.96 | #nps | 600 ~ 810| 1.95 10.41
3 100kN/mMZ#2Z % — - ~ — —|3mEEZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — — |3mE{BZ B -~ — — —
Thilst 1.00 | 000 ~ 655 82.50 | =hst |0oo ~ 655| 1.92 10.27 st 1.00 | 6.00 ~ 830 82.50 | =nst | 5,00 ~ 830 | 1.92 10.27
9 100kN/mMZ#2Z % — - ~ — —|3mEEZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — — |3m%E{BZ B -~ — — —
Thilst 1.00 | 000 ~ 661 83.32 | #hbs | 000 ~ 661 1.97 10.57 Thilst 1.00 | 6.00 ~ 880 83.32 | #hst | 5,00 ~ 880\ 1.97 10.57
10 100kN/m%#825| 1.00 | 000 ~ 214 133.28 |3mZi#BASH| — ~ — — — | 100kN/iZ#825 | 1.00 | 1068 ~ 1874 13328 |3m%EiBz% - ~ — — —
Thilst 1.00 | 214 ~ 9.93 100.00 | #nList | 000 ~ 993 247 13.24 st 1.00 | 6.00 ~ 106s| 100.00| TnLS | 6.00 ~ 1874 2.47 13.24
11 100kN/mZz#Bz25| 1.00 | 000 ~ 242 13782 |3mx#8z23| — ~ — — — | 100kN/iZ#825 | 1.00 | 1057 ~ 21.46| 13782 |3m%EiBz% - ~ — — —
Thilst 100|242 ~ 1020 100.00| ThiS | 000 ~ 1020] 2.33 12.46 st 1.00 | 6.00 ~ 1057 100.00 | TnS | 6.00 ~ 21.46| 2.33 12.46
12 100kN/mM%#8Z % — - ~ — —|3mEEBZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — — |3mE{BZ B - ~ — — —
st 1.00 | 0.00 ~ 7.35 93.78 | =hLS | 000 ~ 735)| 1.86 9.95 st 1.00 | 6.00 ~ 9.70 93.78 | =nhust | 5,00 ~ 9.70 | 1.86 9.95
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/M%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Thst ~ Thst ~ ZThst ~ Zh s ~




